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mm mm °C °C °C % % Mi/m m/s m/s | (164D | m/s | (167540) | hhmm:ss | (167540
18 0.0 0.0 -10.8 -10.0 -11.8 68.3 57.4 5.76 3.8 6.4 FEILE 138| PEILFE | 15:34:38 | FAEAAE
2 H 0.0 0.0 -10.6 -5.1 -15.3 69.9 46.0 12.28 1.4 36| FEEA 79| FEEIA | 00:33:40 Bld:]
3 B 0.0 0.0 -85 -4.4 -15.6 69.3 46.0 6.59 1.8 34 fi] 120 fi] 15:09:20 | FEREIFE
4 B 0.0 0.0 -6.3 -4.1 -15 66.5 56.8 9.18 2.9 53 dtFE 13.7] #EALFE | 07:34:43 i
5H 0.0 0.0 -1.7 -4.3 -12.0 72.3 52.5 9.18 2.0 42| #EALFE 126| #@dLPE | 03:44:26 | FALE
6 B 0.0 0.0 -94 -24 -13.1 71.2 50.7 10.37 1.1 44| HIE 72| BALE | 19:26:145 | FILE
7 B 0.0 0.0 -5.9 -2.7 -115 67.9 50.5 7.06 2.1 46 = 125 dtEE 23:30:10 =
8 H 0.0 0.0 -8.6 -4.7 -13.6 71.3 52.8 6.37 2.6 46| FEFGFE 147 #adbdE | 02:52:37 i
9 H 0.0 0.0 -8.3 -4.2 -13.0 68.4 48.4 8.68 2.1 37| FEA 7.1| PEEIPE | 09:28:54 | HILE
10 H 0.0 0.0 -11.0 -5.9 -17.8 72.5 61.9 8.42 15 3.2 [i] 143] #EJLFE | 15:35:49 i
11 H 0.0 0.0 -7.8 -4.3 -11.5 76.2 56.9 9.47 1.7 39 dtFE 97| dtEE 14:10:58 i
12 H 0.0 0.0 -2.3 2.0 -9.4 77.8 64.9 7.74 1.6 43| FIE 10.5 = 16:26:04 B
13 H 0.0 0.0 0.2 2.9 -2.7 77.2 56.3 6.59 3.0 5.3 fi] 13.7| PHEAPE | 10:16:12 | FEEEEE
14 A 0.0 0.0 -3.1 2.0 -6.1 81.6 59.3 6.12 4.1 7.1 AEIAE 19.2| #EJLFE | 08:38:00 | FILFE
15 H 0.0 0.0 -3.8 15 -7.2 71.4 58.4 6.41 1.7 46| FRAR 198 mMmHE | 2312113 | FiLE
16 B 0.0 0.0 1.7 5.9 -3.6 74.8 64.5 7.49 35 77 EHE 142| EEEIE | 00:08:21 PIdi]
17 B 0.0 0.0 -3.8 -2.2 -5.1 80.2 67.4 5.83 2.3 58| FEFAA 11.3| PP | 00:48:18 i
18 H 0.0 0.0 -6.3 -2.3 -10.0 71.0 422 8.24 16 46| JtFE 81| dtFE 09:28:33 | HiLE
19 A 0.0 0.0 -8.0 -5.1 -9.4 80.5 67.2 5.36 2.5 47| #ALFE 144| #@IE# | 09:54:50 | HALE
20 H 0.0 0.0 -6.9 -5.3 -8.9 79.8 66.7 7.42 2.0 45 FEILFE 117 #&IkdE | 09:11:53 | #AFEA
21 H 0.0 0.0 -1.8 3.9 -6.4 82.0 56.2 5.18 15 41| #EALF 9.1 i 10:57:45 | FEILEE
22 B 0.0 0.0 -2.3 2.7 -76 68.9 478 10.73 1.7 56/ FEILE 147| #8ILPE | 12:5451 | F@ILE
23 B 0.0 0.0 -5.5 04 -10.5 73.2 58.9 11.38 1.2 37 HILE 6.9 EHILE | 20:44:21 [i]
24 B 0.0 0.0 -5.4 25 -11.4 775 55.4 11.70 0.7 17] dt& 40| dtEE 11:59:54 | FHILEE
25 H 0.0 0.0 -3.1 5.1 -9.4 75.4 48.7 1152 0.8 31| HEHit®E 6.6 i} 14:21:35 | FEILEE
26 H 0.0 0.0 -1.3 2.6 -17 78.7 65.5 5.87 15 38| HEEME 11.3 B 12:07:29 B
27 B 0.0 0.0 14 5.4 -3.0 66.5 426 7.49 5.6 106| dJtFE 19.6| #EILFE | 16:09:35 | FILEE
28 H 0.0 0.0 -3.2 -0.3 -49 58.3 410 7.56 1.9 46| #EALF 11.7] JtFE 01:11:34 ki
29 H 0.0 0.0 -0.7 1.1 -3.2 78.9 58.2 5.00 5.1 119 HEE®E 22.9 B 01:57:17 | HEE®E
30 B 0.0 0.0 -39 -0.7 -9.1 82.9 66.1 9.04 2.8 80| FEItA 15.8| #EILFE | 14:35:55 | FILEE
31 B 0.0 0.0 -5.8 -3.6 -8.0 74.3 59.5 8.96 3.2 6.4 FEILE 134] JtFE 12:48:08 ]
+ 4 0.0 — -8.7 -4.8 -13.1 69.8 52.3 83.89 2.1 43 — 11.6 — — il
t 4 0.0 — -4.0 -0.5 -74 77.1 60.4 70.67 2.4 5.3 — 13.3 — — g Ai]
T f 0.0 — -2.9 1.7 -74 74.2 54.5 94.43 24 5.8 — 12.4 — — g Ai]
& i 0.0 — -158.8 -33.6 -286.3 — — 248.99 — — — — — — —
Iy 0.0 — -5.1 -1.1 -9.2 73.7 55.7 8.03 2.3 5.1 — 12.4 — — —
MAX 0.0 0.0 1.7 5.9 -2.7 82.9 67.4 12.28 5.6 119 HE®E 22.9 B 01:57:17 | #ItLFE
MIN — — -11.0 -10.0 -17.8 58.3 410 — — — — — — — —




